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Abstract  €” -GM (1, 1) model of time sequence error has been put fow ard according to
the influence of x® -GM (1, 1) model precision by time sequence error, € -GM (1, 1) and
x? -@v (1, 1) models are used to test model precision and forecast A n exanple isan-
ployed to show that the precision of model and prediction could be raised effectively.
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1 , 2 (5 x@-av (1, 1) ,
x W (t) = - 567 9990831e ° %@ D 1 572 9990831
(6), (7) , 2
2

x© (k) x© (k) 2 (k) e(k) %
2 35 6704 20 - 15 6704 - 78 35
3 33 4303 40 6 5697 16 42
4 31 3308 25 - 6 3308 - 25 32
5 29 3632 40 10 6368 26 59
6 27 5192 45 17 4808 38 84
7 25 7910 35 Q9 2090 26 31
8 24 1714 21 - 31714 - 15 10
9 22 6534 14 - 8 6534 - 61 31
10 21 2307 18 - 32307 - 17 94
11 19 8974 15 5 - 4 3974 - 28 37
12 18 6479 17 - 1 6479 - 969
13 17. 4768 15 - 2 4768 - 16 51
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1 2 3 4 5 6 7 8 9 10 11 12 13

1 1553 2721 3499 4832 6484 7903 8 822 9 466 10 336 11 127 12 044 12 901

0 -Q 447 -0 279 -Q 501 -0 168+ 0 484 0 903 0 822 Q466 Q 336 Q 127 Q 044 -0 099
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69 (k)= - 11 046564136 ° 7k D 4 12 51256413
€9= {1 466, 1 3186, 1 1612, 1 0226, Q 9005}
€9= {9 - b}
= {Q 466, Q 3186, Q 1612, Q 0226, - Q 0995}
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13 15 38 15 - Q38 - 253
2 4 , am (1, 1)
av (1,1) , av (1,1)
Qv (1,1) “ , ,
v (1,1 € -av (1,1 emwm
O (1) O (1) , O (1)
« - ) , 1982
, 1992
, 1988
, 19890
, 1992
, 1990

, 1988



